BIC

5x10°

log[ Relative Probability ]

—150

Window Half—Width (km/s)

2x108

108

2x10°

5

10

=50

—100

1000

100

rm486 2/(41 1587 ~5057)=0.899
F ' | ' | ' | +
' BIC 430768 03 ABIC 0. OOO AlogP 0.0000
i x 365392.28 Ax 0.000 AlogP 0.0000 1
e = | 5
: _______________ L:i— — _'e?jl:"\_ —_—e - — . — .— —. —. —. —,: BIC
2
L ABIC —381948 ' 789.3 ( |1 X
i ' Mx* —381948 ~374.2 |
4967 4967 5057
A | . | AC5 ] | AC5F | |
20 40 60 80 100 120
120 iterations
rm486 2/(41 1587 ~5057)=0.899
[ T | T | T | T | 1
L BIC 430768.03 ABIC 0. OOO AlogP 0.0000
L , 2 2 ]
C oo D
I | R
|
_________________ e
L |
60 80 100 120
120 iterations
Fe2 14% 481+160 km/s
rm486 BLR 6320 NLR 900 km/s
T | T | T | T | | f
e S—————————————————_T
NLR
Fell

120

120 iterations

kdh1 14-0ct-2021 13:12



